2 WAYS TO APPROXIMATE SQUARE ROOTS
BENCHMARK METHOD
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super close to 0.49 so just use the answer for 0.49. which is    49/100    which equals 7/10 or 0.7

SANWICH METHOD (in the example below I did “what’s it close to” for the top number and I did the sandwich method “what’s it between” for the bottom number)
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NOTE: if you end up with a decimal in a fraction multiply the top and bottom by 10 to get rid of it

Next tell them to look over example 3 on pg 17 and let them know that they will need to remember the Pythagorean Theorem from Gr 8 for some of these problems (example 3 uses the Pythagorean theorem and the answer is there for them….if you are familiar with the theorem you can quickly show it to them on the board as a reminder)

Then they can work on the following practice problems: 

Pg 18 #4-8, 11, 12, 13, 17, 19, 20

CHALLENGE QUESTIONS: #22, 23, 24 (encourage them to try these please)

